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QUESTION 1

An administrator is unable to receive output from vxprint, vxdisk list, or other reporting commands but does have access
to volumes and file system data.

What is the likely cause of this problem?
A. vxconfigd has stopped running.

B. vxdctl has stopped running.

C. A disk has failed.

D. The disk.info file is corrupt.

Correct Answer: C

QUESTION 2

Which statement is true about Content Compliance policies?

A. Available linked compound conditions include AND, OR, XOR, and NOT.

B. They are evaluated in the order listed on the main page of the Compliance tab.
C. There is a set limit to the number of conditions per compliance policy.

D. The order of conditions in a filter is important when a filter matches a message.

Correct Answer: B

QUESTION 3

Which two states are displayed in the output of vxprint? (Select two.)
A. Slice

B. Kernel

C. Path

D. Volume

E. Port

Correct Answer: BD

QUESTION 4
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Which two occur when an initialized disk is added to an existing disk group? (Select two.)
A. The private region on the disk is initialized, but not updated.

B. An empty volume is created on the disk by default.

C. The disk group configuration database is updated.

D. An entry is added to /dev/vx/dsk for the new disk.

E. The disk is stamped with the system host ID.

Correct Answer: CE

QUESTION 5

Which two statements are true about an online relayout operation? (Select two.)
A. It can create a snapshot.

B. Log plexes remain unchanged.

C. The number of mirrors can be changed.

D. It can be performed on a sparse plex.

E. It can be reversed at any time.

Correct Answer: BE
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